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require (caschrono);require(fSeries)

data(popfr) #on importe les donnees de popfr.
tempsl=time(popfr); temps2=tempsl"2; temps3=tempsl "3;
temps4=tempsl “4; tempsb=tempsl"5; tempsb=tempsl"6

reg=Im(popfr tempsl+temps2+temps3+tempsd+tempss+temps6) #pe
str(reg)

cont tempsl=seq(min(tempsl), max(tempsl), .1)
cont_tempsO=rep(1,length(cont tempsl));cont temps2=cont_ten

cont_temps4=cont_tempsl “4;cont_tempsS5=cont tempsl"5;cont_te

regbcoeff[is.na(regbcoeff)]=0;
plot.ts(popfr,xlab="annee',ylab="population ', main="Populati

pol popfr=reg$coeff[1]*cont tempsO+reg$coeff[2]*cont tempsl]

regbcoeff[4]xcont temps3+reg$coeff [5]+xcont tempsd+regScoe

lines (cont _tempsl, pol popfr,col="red")
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(file: LinRegl.R)
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Ad=read .csv(file="Advertising.csv", 6 header=T)
str (Ad)

AdTraining=Ad[1:170,]

AdTest=Ad[171:200,]

lin=Im(Sales TV+Radio+News, AdTraining)
lin$coefficients

summary (lin)

lin$fitted.values

linSres #res=residuals
mean_yTr=mean(AdTraining$Sales)
(R2Tr=1-sum((linS$res)"2)/sum((AdTraining$Sa—mean_yTr)"~2))

l[in2=Im(Sales™TV«Radio, AdTraining)
prediction=predict(lin2 , newdata = AdTest)
class(prediction)
myTe=mean (AdTest$Sales)
(R2Te=1—

sum((prediction —AdTest$Sa)"2)/sum((AdTest$Sa—myTe)"2))

(file: Linear Regression Example.R)




